

Identification of Reporting of Recordkeeping Requirement		Form No(s). (If "none" so state)	Annual Burden						Records		
Section of Regulations	Description		*No. of Respon- dents	No. of Response per Respon- dent	Total Annual Responses	Hours per Response	Total Reporting Hours	No. of Record Keepers	Annual Hours per Record Keeper	Total Record- keeping Hours	
			(Col. D x E)	(Col. F x G)	(Col. I x J)						
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)	
201.1 & 201.86	Application for Registration	P&SP-1000	500	1	500	0.500	250				
201.1	Application for Registration - Packer Buyer	P&SP-1100	50	1	50	0.500	25				
7 U.S.C. 203	Stockyard Information	P&SP-1200	10	1	10	0.167	2				
7 U.S.C. 203	Posted Stockyards Name Change	P&SP-1300	75	1	75	0.250	19				
201.97	Packer Inquiry	P&SP-1400	100	1	100	1.000	100				
201.97	Live Poultry Dealer Inquiry	P&SP-1500	50	1	50	0.500	25				
201.27-34	Bond	P&SP-2000	500	1	500	0.750	375				
201.27-34	Bond Rider	P&SP-2100	200	1	200	0.500	100				
201.27-34	Proof of Claim Under Surety Bond - Clause No. 1	P&SP-2110	80	1	80	0.500	40				
201.27-34	Proof of Claim Under Surety Bond - Clause No. 2, 3, & 4	P&SP-2120	54	1	54	0.500	27				
201.27-34	Trust Fund Agreement (TFA)	P&SP-2200	500	1	500	0.750	375				
201.27-34	Trust Agreement (TA)	P&SP-2300	500	1	500	0.300	150				
201.27-34	Rider for General Use with TFA or TA	P&SP-2400	750	1	750	0.500	375				
201.34	Termination of TA or TFA	P&SP-2500	250	1	250	0.750	188				
201.27-34	Letter of Credit	P&SP-2600	1,500	1	1,500	0.300	450				
201.27-34	Automatic Renewal Rider	P&SP-2610	750	1	750	0.300	225				
201.97	Annual Report of Packers	P&SP-3000	430	1	430	8.000	3440				
201.97	Supplement to Annual Report of Packers	P&SP-3100	30	1	30	8.000	240				
201.97	Supplemental Balance Sheet - Packers	P&SP-3110	40	1	40	1.000	40				
201.97	Annual Report of Clearing Agency	P&SP-3200	170	1	170	1.000	170				
201.97	Annual Report of Dealer or Market Agency - BOC	P&SP-3300	2,700	1	2,700	1.000	2700				
201.97	Dealer Business Report	P&SP-3310	2,500	1	2,500	0.500	1250				
201.97	Annual Report of Market Agency - SOC	P&SP-3400	1,750	1	1,750	2.000	3500				
201.97	Supplemental Balance Sheet - Dealer or Market Agency	P&SP-3410	450	1	450	1.000	450				
201.43	Statement of Accounts Payable for Livestock	P&SP-3500	50	1	50	0.500	25				
201.97	Annual Report of Live Poultry Dealers	P&SP-3600	250	1	250	6.000	1500				
201.97	Supplemental Balance Sheet - Live Poultry Dealers	P&SP-3610	10	1	10	8.000	80				
201.42	Status of Custodial Bank Account for Shippers' Proceeds	P&SP-3700	1,750	1	1,750	0.500	875				

Identification of Reporting of Recordkeeping Requirement		Annual Burden								
Section of Regulations	Description	Form No(s). (If "none" so state)	Reports					Records		
			*No. of Respondents	No. of Response per Respondent	Total Annual Responses	Hours per Response	Total Reporting Hours	No. of Record Keepers	Annual Hours per Record Keeper	Total Record-keeping Hours
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
201.73-1	Weigher's Acknowledgment & Agreement - Livestock	P&SP-4000	1,300	2	2,600	0.080	208			
201.108-1	Weigher's Acknowledgment & Agreement - Poultry	P&SP-4100	250	2	500	0.080	40			
201.72	Livestock Scale Test Report	P&SP-4200	3,000	2	6,000	0.250	1500			
201.72	Monorail Scale Test Report	P&SP-4300	260	2	520	0.250	130			
201.72	Vehicle Scale Test Report	P&SP-4400	500	2	1,000	0.250	250			
201.72	Hopper Scale Test Report - Feed	P&SP-4500	50	2	100	0.250	25			
309(a) (P&S Act)	Reparation Complaint	P&SP-5000	15	1	15	0.500	8			
N/A	Statistical Report	P&SP-6010	10	1	10	0.083	1			
N/A	Assessment Report	P&SP-6020	20	1	20	0.167	3			
201.94	Supply Information on Business as Requested	N/A	10	1	10	0.500	5			
*All respondents-business related			21,414		26,774		19165			

Identification of Reporting of Recordkeeping Requirement		Annual Burden								
Section of Regulations	Description	Form No(s). (If "none" so state)	Reports					Records		
			*No. of Respondents	No. of Response per Respondent	Total Annual Responses	Hours per Response	Total Reporting Hours	No. of Record Keepers	Annual Hours per Record Keeper	Total Record-keeping Hours
					(Col. D x E)		(Col. F x G)			(Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
9 CFR 201.17(a)	Filing Tariffs							270	1.000	270
9 CFR 201.42(e)	Custodial Accounts for Trust Funds							1,750	3.000	5,250
9 CFR 201.43(a)	Payment and Accounting for Livestock							1,750	52.000	91,000
9 CFR 201.43 (b) and (c)	Written Credit Agreements							300	0.500	150
9 CFR 201.44	Accounting for Purchases on Commission Basis							2,700	15.000	40,500
9 CFR 201.45	Market Agencies to Make Records Available for Inspection by Owners, Consignors, and Purchasers									0
9 CFR 201.49	Scale Tickets							3,640	15.000	54,600
9 CFR 201.55	Accounting When Other Than Actual Weight							500	12.000	6,000
9 CFR 201.56(e)	Disclosure When Purchasing from Consignment							450	5.000	2,250
9 CFR 201.61	Market Agencies Selling or Purchasing Livestock on Commission: Relationship with Dealers							30	5.000	150
9 CFR 201.72	Scales; Testing of									0
9 CFR 201.95	Inspection of Records									0
9 CFR 201.99(b)	Grade and Weight							370	74.800	27,676
9 CFR 201.100	Poultry Growers' and Sellers' Records							340	150.000	51,000
9 CFR 201.200(a)(Sale of Livestock to a Packer on Credit							40	0.750	30
9 CFR 203.4	Record Disposal									0
9 CFR 203.14	Advertising and Promotion Allowance							3,350	2.000	6,700
9 CFR 203.15	Trust Benefits							10	1.000	10
9 CFR 203.16	Mailing of Checks in Payment for Livestock							370	0.750	278
9 CFR 203.17	Policy on Rates									0
9 CFR 203.18	Packers Custom Feeding Livestock							20	0.300	6
9 CFR 203.19	Packers as Livestock Dealers									0
								15,890		285,870

Estimated Annual Program Costs for Collecting, Processing, Analyzing, Tabulating and/or Publishing the Information Collected
 (Do NOT include administrative costs such as printing and mailing of forms, etc.)

Regulations and Related Reporting and Recordkeeping Requirements
 Packers and Stockyards Programs, GIPSA

OMB Control No.
 0580-0015

27-Jul-07

Form No. or Other Identification		Total Annual Responses	Avg. Time Per Responses	Total Hours Per Year	Persons Involved in the Information Collection*		Program Costs	Overhead Costs	Total Costs	Remarks
				(B x C)	Grade (GS)	Avg. Hourly Rate	(D x (E.2))	(F x 0.139)	(F + G)	
(A)		(B)	(C)	(D)	(E.1)	(E.2)	(F)	(G)	(H)	(I)
P&SP-1000	Application for Registration	500	0.50	250	8/0	\$19.97	\$4,993	\$694	\$5,686	
P&SP-1100	Application for Registration - Packer Buyer	50	0.50	25	8/0	\$19.97	\$499	\$69	\$569	
P&SP-1200	Stockyard Information	10	3.00	30	11/0	\$26.69	\$801	\$111	\$912	
P&SP-1300	Posted Stockyards Name Change	75	0.25	19	11/0	\$26.69	\$500	\$70	\$570	
P&SP-1400	Packer's Inquiry	100	0.40	40	11/0	\$26.69	\$1,068	\$148	\$1,216	
P&SP-1500	Live Poultry Dealer Inquiry	50	0.30	15	11/0	\$26.69	\$400	\$56	\$456	
P&SP-2000	Bond	500	0.60	300	8/0	\$19.97	\$5,991	\$833	\$6,824	
P&SP-2100	Bond Rider	200	0.20	40	8/0	\$19.97	\$799	\$111	\$910	
P&SP-2110	Proof of Claim Under Surety Bond - Clause No. 1	80	0.50	40	8/0	\$19.97	\$799	\$111	\$910	
P&SP-2120	Proof of Claim Under Surety Bond - Clause No. 2, 3, & 4	54	0.50	27	8/0	\$19.97	\$539	\$75	\$614	
P&SP-2200	Trust Fund Agreement (TFA)	500	0.60	300	8/0	\$19.97	\$5,991	\$833	\$6,824	
P&SP-2300	Trust Agreement (TA)	500	0.60	300	8/0	\$19.97	\$5,991	\$833	\$6,824	
P&SP-2400	Rider for General Use with TFA or TA	750	0.50	375	8/0	\$19.97	\$7,489	\$1,041	\$8,530	
P&SP-2500	Termination of TA or TFA	250	0.50	125	8/0	\$19.97	\$2,496	\$347	\$2,843	
P&SP-2600	Letter of Credit	1,500	0.60	900	8/0	\$19.97	\$17,973	\$2,498	\$20,471	
P&SP-2610	Automatic Renewal Rider	750	0.20	150	8/0	\$19.97	\$2,996	\$416	\$3,412	
P&SP-3000	Annual Report of Packers	430	1.30	559	11/0	\$26.69	\$14,920	\$2,074	\$16,994	
P&SP-3100	Supplement to Annual Report of Packers	30	0.50	15	11/0	\$26.69	\$400	\$56	\$456	
P&SP-3110	Supplemental Balance Sheet - Packers	40	0.50	20	11/0	\$26.69	\$534	\$74	\$608	
P&SP-3200	Annual Report of Clearing Agency	170	0.80	136	8/0	\$19.97	\$2,716	\$378	\$3,093	
P&SP-3300	Annual Report of Dealer or Market Agency - BOC	2,700	0.80	2,160	8/0	\$19.97	\$43,135	\$5,996	\$49,131	
P&SP-3310	Dealer Business Report	2,500	0.40	1,000	8/0	\$19.97	\$19,970	\$2,776	\$22,746	
P&SP-3400	Annual Report of Market Agency - SOC	1,750	0.80	1,400	8/0	\$19.97	\$27,958	\$3,886	\$31,844	
P&SP-3410	Supplemental Balance Sheet - Dealer or Market Agency	450	0.50	225	8/0	\$19.97	\$4,493	\$625	\$5,118	
P&SP-3500	Statement of Accounts Payable for Livestock	50	0.50	25	8/0	\$19.97	\$499	\$69	\$569	
P&SP-3600	Annual Report of Live Poultry Dealers	250	0.90	225	11/0	\$26.69	\$6,005	\$835	\$6,840	
P&SP-3610	Supplemental Balance Sheet - Live Poultry Dealer	10	0.50	5	8/0	\$19.97	\$100	\$14	\$114	
P&SP-3700	Status of Custodial Bank Account for Shippers' Proceeds	1,750	0.70	1,225	8/0	\$19.97	\$24,463	\$3,400	\$27,864	
P&SP-4000	Weigher's Acknowledgment & Agreement - Livestock	2,600	0.20	520	11/0	\$26.69	\$13,879	\$1,929	\$15,808	
P&SP-4100	Weigher's Acknowledgment & Agreement - Poultry	500	0.20	100	11/0	\$26.69	\$2,669	\$371	\$3,040	
P&SP-4200	Livestock Scale Test Report	6,000	0.30	1,800	11/0	\$26.69	\$48,042	\$6,678	\$54,720	
P&SP-4300	Monorail Scale Test Report	520	0.30	156	11/0	\$26.69	\$4,164	\$579	\$4,742	
P&SP-4400	Vehicle Scale Test Report	1,000	0.28	280	11/0	\$26.69	\$7,474	\$1,039	\$8,513	

Estimated Annual Program Costs for Collecting, Processing, Analyzing, Tabulating and/or Publishing the Information Collected
 (Do NOT include administrative costs such as printing and mailing of forms, etc.)

Regulations and Related Reporting and Recordkeeping Requirements
 Packers and Stockyards Programs, GIPSA

OMB Control No.
 0580-0015

27-Jul-07

Form No. or Other Identification		Total Annual Responses	Avg. Time Per Responses	Total Hours Per Year	Persons Involved in the Information Collection*		Program Costs	Overhead Costs	Total Costs	Remarks
				(B x C)	Grade (GS)	Avg. Hourly Rate	(D x (E.2))	(F x 0.139)	(F + G)	
(A)		(B)	(C)	(D)	(E.1)	(E.2)	(F)	(G)	(H)	(I)
P&SP-4500	Hopper Scale Test Report - Feed	100	0.28	28	11/0	\$26.69	\$747	\$104	\$851	
P&SP-5000	Reparation Complaint	15	0.40	6	8/0	\$19.97	\$120	\$17	\$136	
P&SP-6010	Statistical Report	10	0.25	3	11/0	\$26.69	\$67	\$9	\$76	
P&SP-6020	Assessment Report	20	1.00	20	11/0	\$26.69	\$534	\$74	\$608	
Totals				12,843			\$282,213	\$39,228	\$321,441	

*Includes field and headquarters personnel.

